Math 283 Quiz 7 Fri. Mar. 2, 2018

Name: S 9 /U(}lm

Directions: Solve the following problems. Give supporting work/justification where appropriate.

1. [4 parts, 1 point each| Suppose that the following sentences appear in a proof. If the

sentence is stylistically poor or grammatically incorrect, then rewrite the sentence to fix these
problems. Otherwise, write “OK”.

(a) The definition of an odd integer is z = 2a + 1 for any a € Z.
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(¢) Each point in the plane is contained in infinitely many lines.

(d) z is even = = = 2k where k € Z.

Suiw K (S 2w, A4 flaws Bet x =2k [ Saws ke /.
Jdl' %‘f‘;ﬁ:&‘ jj‘ X s QJU‘Q,(/]( /h/u/m x= 2k O[D/ Sone 1(_(;7[“

2. [2 points] Prove that if n is an integer and 36 { n%, then 2t % or 3{ n.
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3. [2 points] Suppose that x € R. Prove that if z® — 222 — 32 >0, then z > —1.
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4. [2 points] Let a € Z. Show that a> = a (mod 2).
%«C We 8,@ Ox d)tfeﬂL /904 wih L C&MI Jef&tﬂ/ﬁ on The

porty { o

Cpe O Suppose Bt o wan, ad o a2l dyr same kel

e ek o2 mo= @0 -(E) - kT2 2(20-L)

S(vfce Zlalwa/ e W CLZEO\ WZ) [77 Jﬁguﬁém
Cose 20 Sppos td o ol e 6 a2l o s ke

e cnple o 0 () - @eel) = BE e ) - Quel) =40

Suuw a?-a= M2k = 2(2){2’4’@ ;e have, Tk 2] &> —a . This
wonns ik qZz o luod 2.
Tn b coer , Poa (wad D). @



